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@ (-6) + (-1)
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® {A+(-B)}+C=A+{B+C)
@ (A+B)+(-C)=A+ {B+(-C)}
®A-B+C)=(A-B)+C

@ A+B+C=A+C+B

® A+ (-B)+C=C+(-B)+A



@ (+15) - (-12
@ (-3) - (-20)
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@ (+13) - (-30)
® (+7)-(-21)

® (-31)-(-12)
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DO 2-3-4
® (=6) + (+7) — (+6)
® (+4)-(-2)-9

@ -3-(+5) + (+3)

@ -11+10-4
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D x<-x<-3 @ -3<x<-x

@ —x<-3<x G —3<—x<x
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® x<-3<-x






11. thg 5 B4E AFgstel hehd 102 $4

52

o
= A

filo

A=A

@ 50 A 2=3 x M| 714 ¢ 50x A

@ 71229 o7t acm , AI22 Zo|7F bem ¢l HAFZIEH 9] E3
2(a+b)cm

ofh

® 4km ] ATE A% gkm o £ o2 AAL T A A
2 Az
a

N
Y

@ 5 7ol y 92l Apat1 He) gt 2 cu

® am+ bem : (100a + b) cm
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